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Q) Preview Question

B -1 [ NoLimit
- L

Which of the following illustrates the genotype of L. .
A dad iluad Ja) Aal) ikl ey AU (4 (g

a male of blood group A and having the .
Tl pangdls g

hemophilia disease?

o XOXh AA O
b, XX A O
¢ XY A O
d. X"y M4 O
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evidence that:

The Hershey—Chase experiments provided 1) e Sls Gy b ket sk @

DNAT & il 3a0l Gglius (et 300y ilpnll 300 Liglina (s uso
In DMNA the amount of cytosine equals the amount of guanine and the amount of thymine equals the amount of adenine

Lyl 6 Bagngall 250500 Salall ga iy o)
b ' O
Protein is the genetic material of bacteria
il gyl o Bagagall 80l Balall g gl
Protein is the genetic material of viruses O
Sy gl | 8 Bagngall 280550 Falall ga DNA
d. ' O

DMA is the genetic material of viruses
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B £ B 1-1\IIINoLimit

Which of the following represents the structures (1)  da.agall (2) 5 (1) cushil gl ok Laa ‘;gi
and (2) shown in the below figure? eolial (i) {’,a

a.  1: Phosphate group and 2: hydrogen bonds Aaim gt Janls 12 5 lingd Ao gena :lO

b.  1: Sugar deoxyribose and 2: peptide bonds  fuass Lails; 125 feanSY) agiie Jeulyll Ko :IO

c.  1: Nitrogenous base and 2: covalent bonds Aoadlil Dodlgy i g At i B2 8 :IO

1: Nitrogenous base and 2: hydrogen bonds Aiimegnd Sasley 1D g A 0 Basld :IO

e




Q) Preview Question

b.

B Qi 1-1 = [J NoLimit

What is the mRNA sequence for the template & J g gl il anal 5 b
: : = . N _ .
strand DNA sequence in the figure below? o o <d Uastia (gl sull) (gsslll Gasall Al
galiaf e

LA

AEAAACTAG

5" UACAAACUAGAA 3’

5" ATGTTTGATCTT 3

5' TACAAACTAGAA 3

O O O O

5" AUGUUUGAUCUU 3

o
C
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What is the role of the structure shown in

the figure below during protein synthesis?

ol (s oL ool ) B Aadagall Al 50 La @

l_r_l

anticodon - Juas 03255

) slad apeugubll W Loae¥) omleal) iy O
a.
It transports amino acids to the ribosome to synthesize the protein

ps-2sablle MRNA L.

b. | O
It attaches the mRMNA to the ribosome

poeosnlll gl g pally Iais
c O

It associates with the protein to form the ribosome




Q Preview Question

The diagram below shows some fraits and their
concordance rates in identical twins and
fraternal twins. Which of the following is shown
when a trait is found more often in both

members of identical twins than in fraternal

twins?
100% —
B0%
g
=
3 60%
g
40% —
3
0% -
0% " .
Alrhalmer's Blaod Depresiion Reading
disease types disability
Traits

B vdentical twins [ Fratemnal twins

Sy Sl gl AU ) pd) g

ARG adlgally ARlatal) adlgl) gal Lgdllg

5 AR il B Aa 5 A b Las g

CALALN aflglll B Wagag (a pS) gad

ol s aall Blad bzt 2l Ad) Bppae

el
sacln [l sieeon [l

a. A strong environmental influence Gigs Uiy 15
b.  No environmental influence. e J:T dsng ade
c. A strong genetic influence. Ggd Gua 13

O O O

B £ B 1-1\I7\I|Noumit

®
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The DNA strands are separated during replication as
each parent strand serves as a template for new
strands, as shown in the figure below.

Which of the following represents Okazaki fragments?

3((

] Ny
5///’(’//,
/ ///

Leading strand

DNA Ligase
DNA s

Lagging strard
soalee alaly

S ) DNA 3,28 3!

DNA Fl:llymerase

cheloall Adae LT DNA ) (udis Joads
Jedlall - 3gaiS Alual Alues IS Jaas i
ol (S o Las Saaadl

SIS LB ) e A Laa (g

Direction of replication

e Lozl alaat

Parental DNA

O O O

o
C




Q) Preview Question

B -1 [ NoLimit

Which of the following is the first event of the JoAIY) Adaga e oY) Gaall g s Laa g;
unwinding during semiconservative replication? thdlaall Clal Fewlddl DA
DNAY 8 Zuaalall Ly )1 §alll el K8
a : O

DMA polymerase breaks the covalent bonds forming the DNA

b Lagimay e DNAJ Glb SlSla 23 s O
' DMA helicase separates the two DMA chains
Cafgl€aall 8 Taaalall lads ) SISl el SKE O
¢ DMA helicase breaks the covalent bonds forming the nucleotides
DNAN Loy 80 Ziall ¢alaf g€ pall 2alz) 5paldl cilasisl 5oa3 O
d.

DMA polymerase catalyzes the addition of appropriate nucleotides to the DNA strand
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Which of the following describes the

inheritance of fingerprint pattern?

Ay bl ﬁm;&.ﬁ ;%IL'G'I Silalla mall s Lgi
?bu.a'g'l

Epistasis Sl (348
Multiple Alleles saaesall DU
Polygenic Traits Sliall 2a2e Sl

Codominance At sall)

O O O O

o
C




Q) Preview Question
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Why does nondisjunction occur? Cladl¥) ase Gaay 1ilal <@

a. T'he sister chromatids do not separate. dapall lanleg S Jladl) f..u-.o

b. The nucleoli do not disappear. gl lind) aae O

¢ Cytokinesis does not occur properly.  dsiaia 5)geas aPuguad) aludil aae O

The chromosomes do not condense properly. dsis.a 5)ga clagwgag S S f,_u-.C)

Q-




Q) Preview Question
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Which of the following abnormal male gametes (3 Al dgmadall b Ao S3) L) o ;éi
results in a child having down syndrome when  44ia clas 83 0usS ) dsads ddaisdl galad)
it fertilizes a normal egg cell? ol
a. XX+ 22

b. XY + 21

C. Y + 23

O O O O

d. XY + 22




Q) Preview Question
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Which of the following genetic disorders LI B IRPRS 3o, ¥ 2.0 80 61 CANMESY) (e &_é:_ @
cannot be represented by the inheritance ¢l a0 i gﬁ Al

pattern shown by the pedigree below?

1 2
1@ O[O
1 2 3 4 - 6 I
51 X
1 2 3 4 5
a. Tay-Sachs disease _Sli— gl e O
b,  Cystic fibrosis oSl gl O
c. Galactosemia [EPET o PN O
d. Achondroplasia -._i:UL..::.;JH gl ple O




Q) Preview Question

=k X
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The pedigree below illustrates the inheritance of
the dominant disorder Huntington’s disease
across two generations.

The parents I(1) and 1(2) had the child 1i(3) and
they wanted to know if this child could be
affected by Huntington’s disease or not. Based
on the pedigree, predict the possible genotype{s}
of the child Ii(3).

BO

s (A Al IERY) Ay g ol el Jas i
Laag uaa T1(3) Jakall (2) 5 1(1) s ca
ilaaa Jakal) 138 098 of faal) (e 1Y) A aas (LS
B el Janas ) Talid) Yl O glaitin Gy
AI(3) &N ddaiaall dxial) j al)

Unaffected

Affected
“ @

a. hh only Lz hh
b. HHonly L HH
c.  Hhonly Lz Hh

O O O

o
C
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B -1 [ NoLimit
- L

Which of the following is not a characteristic . .
¢ algall cliaal) Al dlad cw 2 Y Laa gl
of a person with albinism? s < adsd gatlad ge S

a.  Enlarged liver SE g RN O
b. Vision problems gl & Ly Lo O
c.  No color in the skin alall & Golll alaasl O
d.  Skin susceptible to UV damage Loaaity (i)l At s (BB Mall | in g O




Q) Preview Question

o A
— E'ﬁrﬁf 1—1‘|:|NOL|m|t
o
Which is true about eukaryotic gene Cuadl adBS oo aag:u.a 3111:.11 Sl Cha o
regulation? T3l Ao
Blgill Al rpal) adaf Blag sl Gds pall las O
a.
Eukaryotic gene regulation is exactly like prokaryotic gene regulation
Shnally Bl R (Shoubll (g5t (manll Bpaly aaiil a2l alge 4ns O
b. . -
Replication factors guide the binding of eukaryotic RMA polymerase to the promoter
S Gasiie gisal ) (gasll (meal) ) leba aiey Lae cliinall ) aobll g0l Ly, o)
C.
Repressor proteins bind to activators, preventing them from binding to the DMNA
Eilinll JU) Jiea o 05 Al 238aal aflgall Y uaesH) agite (ghaubl) (saodl (manl) Ahdnall eiligg sl gl
d. )

Activator proteins fold DMNA to enhancer sites that increase the rate of gene transmission
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Why can the deletion of a single nitrogen base in Baaly Al i Bae B Lids galy o (e 1L
DNA due to a mutation be harmful to an organism? ‘:‘“,;.11 OARIL sl e Biab DNA qe.

Baeld aia e gl 8 ) laal) puen s O

Nearly every amino acid in the protein will change after the deletion of a base.

thld asseq S Claguges S Lald)l Caiall

Deletion causes chromosomes to join the wrong chromosome.

GAlal psusag S o madia elgial ) ahall o3 O

Deletion causes a gamete to have an exira chromosome.

Such a mutation causes one chromosome to break off or become fragile.

C
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Which of the following genotypes results in

death in case of nondisjunction of sex

P Alla A Blasl s AW Liad) kD G (g
Sauuind) ila g gag Sl Jladil

chromosomes?
2 XX @)
b X0 O
c. XXY O
d oY O

o
@




Q) Preview Question

o
@®

o A
= =Kk A 1—1‘|:|NOL|m|t
( ]
The table below shows the cross of two X ladaad Julll Al gl plial (J gand) gdal
snapdragons plants, one white—flowered _((;RGW) Ay th‘i :;'3 AVl (CWCW} plian th
(C"CY) and the other pink—flowered (C"C"). Jaall Lallal) okl o et A0 ) a g
Which of the following ratios describes the bl s 4_:_:,;5 ‘53_1;
phenotypes of the offspring?
o e
c® ™ il R:Red
a. 1:1:1 red: pink: white ol 1825 T peal 12101 O
b.  2:2 pink: white ol sy 2:2 O
¢ 1:2:1 red: pink: white oanl 15t seal 1:2:1 O
d. 2:2 red: white sl = eal 2:2 O
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Use the figure below to determine the amino ?_.‘#m iadlal) 3 aantl olif Jett EC

acid sequence coded by the following mRNA: A Joeusll (gl g5l (s Aailgy salal)
5' AUGCCAGUCAUC 3' 5 AUGCCAGUCAUC 3'

Second Base

At E e Lad!

iy ucy
phengalanine sering
uuc UCE
phenylalanine|  serine
UUA UCh
feucing sering

{4]4] ] ucG
leucina sarine

cuu ccu cal
feucine prodine histidine anginine

cuc ccc CAC CGC
leucine proline histidine angining
ClA CCA CAA CGA
leucine proline glutaming argining
ol ] €ca CAG GG
leucine proline ghitamine arginine
auu acy Aal AGU
isoleucing threonine | asparagine sefine

AUC ACC AMC AGC

A isolewcing threanine asparaging seting
isoleucine | threonine lysine anginine

AUG (start) ACG AAG AGG
methionine | threonine lysine angining

GUU GCl GAl GGU
valing alanire aspartate ghycine
GUC GCC GALC [ele]
valine alanine aspartate ghycine

GUA GLA GAS, GGA
valine alanine glutamate ghycine

GUG GG GAG GG
valine alanine ghutamate glycine

a. methionine, isoleucine, valine, proline  ulg ., (ulld, fpesglafl , rd gl O




Q) Preview Question
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Which type of mutation took place in the €A il 93 cfan Al Bkl g5 La

following sequence? @
v Mg = =W I T 141 142 143 144 145

Before mutation ATT TCC GTT ATC CGG ATTTCC GTTATC CGG Lkl 8

After mutation ATT CCG TTA TCC GGA ATTCCG TTATCC GGA  5nll s,

EE A
a. O

Insertion

b, O

Substitution

Fraah
c O

Duplication

d A O

Deletion




